FOO7s8 Montagehandleiding || , Lesftid | |EUROPLAY nv

Age group | |Eegene 9

Alice i derland i Age / Alter | | B-9200 DENDERMONDE
Alice in wonderland Assembling manual -6 535«'3«253(3583 22
plice in wunderland Montageanleitung
Alicia en en PO|S de las . . DO.‘.“ 'l 6/] 2/20] 9
maravillas Instrucciones para el montaje | ._ "
Alice nel paese delle . T . -
meravidlie Istruzioni di installazione Page: 1/11

VALHOOGTE / HAUTEUR DE CHUTE /
FALL HEIGHT / FALLHOHE/
ALTURA DE CAIDA / ALTEZZA DI CADUTA

i

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA /
SICHERHEITSABSTAND / ZONA DE SEGURIDAD / DISTANZA DI SICUREZZA

- 9096 _
i
o
(@]
0
/ VeV
T <’>
1500 [T T (e 2
+=H | o
\ e ) +38.5m2
T .. 1500
RO e "
=2
AFMETINGEN
DIMENSIONS o
MASSE 3
DIMENSIONES —
DIMENSIONI [ ]
L: 6.Tm
Br: 3.5m
H: 2.4m 45.5m?2




FOO7s

Montagehandleiding - Notice de montage
Assembling manual- Instrucciones para el montaje

Montageanleitung - Instruzioni di installazione Page: 2/11

Dat.: 16/12/2019

Benodigdheden - Liste des pieces - Materials - Bendtigtes - Accesorios - Requisiti

1x FSOO-As-KIimboog—Ol

724 x 420 x 191

6.01kg

1x F300-As-Touw-01

- N

@16 x 627 0.57kg

2x  F300-M-Voetijzer-01

147,5 x 88,5 x 60 0.41kg

2x  M8X55 => 3 Whit

X Mx o o X Write @ -
2X M8 Jam—

2% MI10x80 2% Blue @
X MIO L1

ox  MI0x50 E—mm ox M8 @ 2% Blue =7

75x M10x95 mc———=()B




Montagehandleiding - Notice de montage Dat.: 16/12/2019
F007B Assembling manual-Instrucciones para el montaje

Montageanleitung - Instruzioni di installazione Page: 3/11

- 3468 _
- 2468
I
~
Yo
B/ 9
3 —~~
/
AT e
E *
! giE=a{




Montagehandleiding - Notice de montage Dat.: 16/12/2019
F007B Assembling manual-Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione Page: 4/11

4729
4229

[}

[}

4354

4844




Assembling manual- Instrucciones para el montaje

Montagehandleiding - Notice de montage

Dat.: 16/12/2019

2504

1517

Montageanleitung - Instruzioni di installazione Page: 5/11
- 4729 -
- 4129 _

I | ~~

1) oy




FOO7s

Assembling manual- Instrucciones para el montaje

Montagehandleiding - Notice de montage Dat.: 16/12/2019

Montageanleitung - Instruzioni di installazione Page: 6/11

)
o
O~
<
O

1500




Montagehandleiding - Notice de montage Dat.: 16/12/2019

F007B Assembling manual-Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione Page: 7/11

FO40

A




Dat.: 16/12/2019

Page: 8/11

]|
1|
1
J
/

Montageanleitung - Instruzioni di installazione

Montagehandleiding - Notice de montage
Assembling manual- Instrucciones para el montaje

FOO7s

F300-As-Klimboog-01




Montagehandleiding - Notice de montage
F007B Assembling manual-Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione

Dat.: 16/12/2019

Page: 9/11

3

D120xD12
2X

@50x10x212
Ix

M1 OXSO%

1x@

=)

@50x10x212
1x




F007B Assembling manual-Instrucciones para el montaje

Montagehandleiding - Notice de montage

Montageanleitung - Instruzioni di installazione

Dat.: 16/12/2019

Page: 10/11

M10x95
2X

:- -: }

Us)

= ', (4x M10x95)
= 2 14x

{15 I | — |

2 = ==
2\ R R A
M10x95 ==
2X o o o;

Q
MT10x95
8x




FOO7s

Montagehandleiding - Notice de montage
Assembling manual- Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione

Dat.: 16/12/2019

Page: 11/11

Par temps sec il faut resserrer régulierement toute la visserie.

By dry and warm weather check the tightness of all bolts and screws.

Bei frockenem Wetter mUssen alle Schrauben und Bolzen aufs neue angespannt werden.
Para el tiempo seco, se necesita cerrar o ajustar los tornillos y tuercas.

Con tempo asciutto, tuttii bulloni e le viti devono essere avvitati nuovamente.

Bij droog weer moeten alle bouten en schroeven opnieuw aangespannen worden.

3
T
R
KON
AN
N

O

B8
A ¢

v

-"' '
Ay

N

N

N

R

AN

/4
Q

O

0




